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Alg1+ Writing Equations of Lines Test Review

Show all work/steps in a neat, organized manner. All work must be shown!!

Name___________________________________
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Write the equation of the line whose information is given. (Notice the variety of problems!
Remember the 2 things you must ALWAYS find to write the equation of a line!)

1)  Slope = 2,   y-intercept = -2 2)  Slope = -4,   y-intercept = 3

3)  Slope = 
3

5
,   y-intercept = -1

4)  Slope = -5,   y-intercept = 1

5)  through: (2, -2),   slope = 2 6)  through: (-1, 1),   slope = -3

7)  through: (1, 0),   slope = -1 8)  through: (5, 5),   slope = 2
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9)  through: (3, -1) and (0, -4) 10)  through: (-5, 4) and (-2, 1)

11)  through: (0, -5) and (1, -1) 12)  through: (0, -1) and (-1, -3)



©z h2f0N1^9[ aKLu^t_at aSzokfitOwzabrqed rLML^Cz.h x `AflOlE Ur\iNgQhWtlsd krae^sje[rdvCeJdd.y D [MJaYdReW YwEiVtXhH nIfnbfRiBnniBtseq WAulJgweFbCrGas v1H.

Worksheet by Kuta Software LLC

-3-

13)  through: (1, 1) and (0, 5) 14)  through: (0, 2) and (1, -4)

15)  through: (-1, 3),  parallel to y = -2x - 4 16)  through: (-1, -5),  parallel to y = 4x - 2
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17)  through: (2, 0),  parallel to -x + y = -4 18)  through: (2, -1),  parallel to 4x + 2y = -2

19)  through: (1, -3),  perp. to y = x - 1
20)  through: (2, -1),  perp. to y = 

1

2
x - 4

21)  through: (-1, -1),  perp. to x + 6y = 6 22)  through: (3, -5),  perp. to 3x - 9y = -18


